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(2) fl(z) ZEBIRMHTT 3 2 2 TH 2 B

flz) =2 (log z)'z — (log z)z’ _ 2(1 — log z)

T2 z2

»/oN 3.

(3) f'(z) =02fBz=eTHY fle)=1TH3. z=eDHIRT f'(z) DRNEHED-T

WBDTHE(e,1) IZZDHBROEHBRTH 2. XoT, y= f(z) DEMMDEEZ (e,1) T
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z 0 1 e
f'(z) — o]+ |+ +
() + |+l + 0] -
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(4) (i) logz = (logz) - (z)’ ZAWVT,
[logz dz = [(logz) (z) dz =zlogz— [1-dz =zlogz —z+C. 7272 L, CIIZHEDEH.
(i) XTo k512, oS EL 2EEA L CEET 3.
I= /e (log z)2dx = /e (log z)*(z) dz

— [(log a:)Qx] 6_1 - /: 2(log z)dz
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Cr:y=22—23z—18% f(z), Co:y=—a®+5z+24 % g(z) £BX<.

(1) f'(z) =22 —-23. R (0,-18) X C, LORTH D, L DIEXIX f/(0) = —23.

L7z T, LDFAERIEy = 237 — 18.

(2) ¢'(z) = 2z +5, LITFATR Co DT 23 = 22+ 5 =14 ZHMT.

KoT, p=14.

(3) (i) p=14&D,0<a<7 C,CoD=DODKED ¢ FEIERERDZ L 2 =7T+/T0TH
D, T=VT0 <027+ /70> 14D3bn 3. £7=, aDd b 20 DEFEAT —22 + 5z + 24 >
22— 23z — 18 TH3. o,

2a
S= [ {(—2*+5z+24) — (22 — 23z — 18)}dz

a

14
= —?ai" + 4202 + 42a.

(ii) (i) &b, S(a) = —%a3+42a2+42a. S'(a) = —14a%484a+42 = —14(a®—6a—3).
o7, Sa)=0%MF alda=3+2/3
3-2V3<a<3+2V/3DLES5(a)>0, a>3+2/3DLE S (a)<0TH5.

a>0&D, S(a)BRKIZT % o DEE 3+ 2V3.



